
او ی  اد ب  ا
م  ه  ن  دس  ی ری  اض  ی ت  م  ری  ن  ات ی  ازده  م س  ری

ک  ن  ی  د. م  ح  اس  ب  ه را زی  ر ان  ت  گ  رال ه  ای . ۱ م  س  ئ  ل  ه

∫
𝑖−۱

𝑖+۱
𝑧𝑒𝑧۲ 𝑑𝑧 آ)

∫
𝜋

۰
𝑧cos۲ 𝑧𝑑𝑧 ب)

∫
۱

𝑖
𝑧۲𝑒۲𝑧 𝑑𝑧 ج)

∫
𝑖

−𝑖
𝑧۲ sinh ۲𝑧𝑑𝑧 د)

ک  ن  ی  د. م  ح  اس  ب  ه را زی  ر ان  ت  گ  رال ه  ای . ۲ م  س  ئ  ل  ه

∮
|𝑧|=۱

􏸂􏸎􏸒􏸇𝑧
𝑧(𝑧−۲)۲ 𝑑𝑧 آ)

∮
|𝑧|=۱

𝑧−۳(𝑧۲ + 𝑧− ۱)۴ 𝑑𝑧 ب)

∮
|𝑧−۲𝑖|=۱

􏸒􏸈􏸍𝑧
𝑧۴+۴𝑧۲ 𝑑𝑧 ج)

∮
|𝑧|=۴

􏸂􏸎􏸒𝑧
𝑧۲(𝑧۳+۸) 𝑑𝑧 د)

ک  ن  ی  د. م  ح  اس  ب  ه را زی  ر ان  ت  گ  رال ه  ای . ۳ م  س  ئ  ل  ه

∮
|𝑧|=𝜋۴

sin𝑧𝑑𝑧 آ)

∮
|𝑧|=۳

(𝑧۲ + 𝑧+ ۱) 𝑑𝑧 ب)

∮
|𝑧|=۱

(𝑧۲ + ۱) 𝑑|𝑧| ج)

∮
|𝑧|=۱

(𝑧۲ − ۱) |𝑑𝑧| د)

ک  ن  ی  د. م  ح  اس  ب  ه را زی  ر ان  ت  گ  رال ه  ای . ۴ م  س  ئ  ل  ه

∮
|𝑧|=۲

۱
|𝑧−۱|۲ 𝑑𝑧 آ)

∮
|𝑧−۲|=۱

􏹝􏸎􏸆𝑧
𝑧۴ 𝑑𝑧 ب)

∮
|𝑧|=۱

(𝑧 + 𝑧)۲۰ 𝑑𝑧 ج)

∮
|𝑧−۱|=۱

􏿴 𝑧
𝑧−۱􏿷

۱۰
𝑑𝑧 د)

ک  ن  ی  د. م  ح  اس  ب  ه را زی  ر م  ث  ل  ث  ات  ی ان  ت  گ  رال ه  ای . ۵ م  س  ئ  ل  ه

∫
۲𝜋

۰
۱

۲+􏸒􏸈􏸍 ۲𝜃 𝑑𝜃 آ)

∫
𝜋

۰
􏸂􏸎􏸒𝜃

۳+􏸂􏸎􏸒𝜃 𝑑𝜃 ب)

∫
۲𝜋

۰
sin۳۲𝜃𝑑𝜃 ج)

∫
𝜋

۰
􏸒􏸈􏸍۲𝜃
۲+􏸂􏸎􏸒𝜃 𝑑𝜃 د)

ک  ن  ی  د. ح  س  اب را زی  ر ح  ق  ی  ق  ی ان  ت  گ  رال ه  ای . ۶ م  س  ئ  ل  ه

∫
∞

۰
𝑥۲+۱
(𝑥۲+۴)۲ 𝑑𝑥 آ)

∫
∞

۰
۱

(𝑥۲+۱)(𝑥۲+۴)۲ 𝑑𝑥 ب)

∫
∞

−∞
۱

(𝑥۲+۲𝑥+۴)۲ 𝑑𝑥 ج)

∫
∞

−∞
۱

𝑥۲+𝑥+۱ 𝑑𝑥 د)

۱



زی  ر ن  اس  ره ان  ت  گ  رال ه  ای م  ح  اس  ب  ه م  ط  ل  وب  س  ت . ۷ م  س  ئ  ل  ه

∫
∞

−∞
􏸂􏸎􏸒۳𝑥
(𝑥۲+۱)۳ 𝑑𝑥 آ)

∫
∞

۰
𝑥􏸒􏸈􏸍 ۲𝑥

(۱+𝑥۲)(۴+𝑥۲) 𝑑𝑥 ب)

∫
∞

۰
𝑥۲ 􏸒􏸈􏸍۲ 𝑥
(۴+𝑥۲)۲ 𝑑𝑥 ج)

∫
∞

۰
􏸂􏸎􏸒۲ 𝑥

(𝑥۲+۱)(𝑥۲+۴) 𝑑𝑥 د)

۲


